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10.
11.

INSTRUCTION TO CANDIDATES
Immediately after getting the Booklet read instructions
carefully, mentioned on the front and back page of the
Question Booklet and do not open the seal given on the right
hand side, unless asked by the invigilator. Do not accept a
booklet without sticker-seal and do not accept an open
booklet. As soon as you are instructed to open the booklet in
the first 5 minutes you should compulsorily tally the number

of pages and number of questions in the booklet with the

information printed on the cover page. Faulty booklets due
to pages/ questions missing or duplicate or not in serial order
or any other discrepancy should be got replaced immediately
within 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any-extra time will be given.

Write your Roll No., Answer-Sheet No., in the specified places
given above and put your signature.

Make all entries in the OMR Answer-Sheet as per the given
instructions, otherwise Answer-Sheet will not be evaluated.
For each question in the Question Booklet choose only one
correct/ most appropriate answer, out of four options given
and darken the circle provided against that option in the OMR
Answer-Sheet, bearing the same serial number of the question.
Darken the circle with Black or Blue ball-point pen only.
Darken the circle of chosen option fully, otherwise answers
will not be evaluated.

Example : @ ‘ © @ If (B) is correct answer.

This paper consists of sixty (60) multiple-choice type of
questions, out of which the candidate would be required to
answer any fifty (50) questions. In the event of the candidate
attempting more than fifty questions the first fifty (50)
questions attempted by the candidate would be evaluated.
Each question carries 2 marks.

Do not write anything anywhere in the Question Booklet or
on the Answer-Sheet except making entries in the specified
places. Rough work is to be done in the space provided in
this booklet.

When the examination is over, original OMR Answer Sheet is
to be handed over to the invigilator before leaving the
examination hall, while the Question Booklet and carbon
copy of the Answer-Sheet can be retained by the candidate.
There is no negative marks for incorrect answer.

Use of any calculator/log table/mobile phone is prohibited.
In case of any ambiguity in Hindi & English versions, the
English version shall be considered authentic. For
Technical words terminology in English shall be
considered as_standard.
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GENERAL PAPER - I
T 9T - 1

Consider the following statements :

(@) Number of government colleges in
Chhattisgarh in the year 2000 were
116. -

(b) All higher education institutes in
Chhattisgarh are funded by
respective Universities.

() Number of government colleges in
Chhattisgarh in the year 2017 are
216.

(d) At present number of state
universities in Chhattisgarh are 13.

Correct statements are :
(A) (a) and (b)
(B) (b) and (c)
(€©) (a) and (d)
(D) (c) and (d)

Which is not the objective of RUSA ?

(A) Improve the overall quality of

higher education institutions.

(B) Ensure academic and examination
reforms in higher education
institutions.

(C) Ensure capacity building at all levels
of employment.

(D) Setting higher education institutes
to Urban and Semi-urban area.

1.

=1 el R faem wifse .

(a) 12000 ® vHea wEfdenedl &
& SETe | 116 o |

() wHaTe H at 3= fian Tl w
foritar wereran favafaemea g/ & st
®

(c) ¥ 2017 § wHehlg Hefoemedl i
e s § 216 )

(d) T H BTG | Ustehra faeafaeneral
# e 13 ¥

e HYH g

(A) (a) T (b)

(B) (b) Wi (o)

© @W@

(D) (9 (@)

frfafaa § § SF RUSA 1 S09d 78 © 2

(A) =3 T HEImHl 1 TRy oE GUra
T ‘

(B) 3=u foren Heuri ¥ sreriefiven we wian
yorert H GER ghed @ #)

(C) VR & ot WU ¥ awar fawm
gHivea & H

(D) WEQ aen ey &5 # s=v fhen
HEIH & T HA H |

SPACE FOR ROUGH WORK / 1% & & fe&l sig
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Consider following statements :

= Tl | fa=m Fifee

(a) Green chemistry refers to the () T HfaE) § o ® T gafaoia
redesign of chemical products and ’ o Taree faudid YWiE Sl hH i 91
process in order of reducing or AT HA o @ qErEafyer Iarg qe
eliminating adverse environmental TRl ! QIHCE L & fo7d 8l 7
and health effect. :

(b) Eutrophication results subsequent (b) Wﬁ@éﬂﬁﬁﬂmﬁmgﬁ
loss of biodiversity. - RG]

(c) DDT is a biodegradable pollutant. (c) DDT T Saerfl 5gues gl

(d) The altitude of stratosphere is about (d) @E‘Tm qeat & q @ N9
0 - 10 km from earth’s surface. 0 - 10 for.#). F=E W B B

Correct statements are : '{T@' HUA T :

(A) () and (d) (A) (o) 7T (d)

(B) (b) and (d) (B) (b) 7 (d)

(©) (a) and (b) (©)  (a) 7 (b)

(D) (b) and () (D) (b)T(c)

Which of the following statements about eI TEETE W % ey § e H |

photochemical smog is incorrect ? HIF-91 FF TG © ?

(A) It has high concentration of (A) T SAfiehia UgTY i Wil stfeeh
oxidising agent. AR

(B) It has low concentration of (B) TEH ATiehh uerY i WAl A
oxidising agent. TR

(C) It can be controlled by controlling (C) 38 NO,, IS IHTE T S
the release of NO,, hydrocarbon v IeasiA ol FEfa = fEtm fear s
and ozone. Hehel B |

(D) Plantation of some plants like pinus (D) UTETE YRR & U IR RIRIEE TS
helps in controlling photochemical T 1 P o HaRd B |
smog.

SPACE FOR ROUGH WORK / T% & & ford S
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5.  Match List - I with List - Il and select the 5.  §&it - I &l gt - I1 § FAferd =6 et g2

correct answer using following codes : FI AT & W@ IW IA HIFC
List - I List - IT et - 1 g - 11
(a) Peroxyacetyl (i) Global (a) WIATFCIeRA (i) oo FIHT
nitrate Warming MM
(b) Poly chlorinated (ii) Photochemical (b) Uich FAECS (i) PRERIAS
biphenyls smog EIHERING i
(c) Dioxides of (iii) Water (c) hTe au (iii) STeT 9gHh
carbon and Pollutants T h
sulphur TRITFRS
(d) IR acﬁve (iv) Acid rain (d) IR 9fswa a1 (iv) st &l
molecule
(e) Organic Waste (v) Discharge (e) TR sTafdre  (v) uRemto 93
from food & eruiire
processing
plants
Codes : e
@ (® () (@ (o @ (® (© (@ (o
(A) @ @) @) @ (@) (4) @ @ @) O
(B @) @ O @) B) @) @ @ @&
© @ @ @ ) © @ @ @ @ @
D) @ @) ) ) @ (D) @) @ @) ) O

SPACE FOR ROUGH WORK / T% &4 & fad s1g
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6. Which of the following green house gas 6. 7= # & frw efa & 0 =i S.esg,d.
has maximum GWP (Global Warming (velae et qeferer) ity § 2

Potential) ?

(A) Carbon dioxide (A) e SEATFES
(B) Methane (8) Hw
(C) Nitrous oxide (C) ¥EgH ATES
(D) SF, (D) SF,

7.  Match the colour code with biomedical 7. SlamEsa 59 Tl & o = 2 T

waste disposal : T % & Y Sifed
(@) Yellow (i) Solid waste @ den () Y ugd
(b) Red (i) Waste sharps (b) <A (i) T o4 Uty
(c) Blue (i) Chemical wastes (c) e (i) TR o g
(d) Black (iv) Human (@ W (iv) TS IRR T H
anatomical waste o waref

Codes : e

@ G © (@ @ G © @
@A) @™ 6 @ @ (A) @) @ @ G
B O @) @ (@) B) () Gv) (@@ ()
© O (@(v) @) @ © @ Gv) @) (@

(D) () G @ @) (D) Gv) G) () (i)
SPACE FOR ROUGH WORK / % & & ford svig |
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8.  Which of the following chemical has 8. fm ¥ ¥ foru WA =1 SoEr=al FH

maximum bio-concentration factor ? waifue 2 2
(A) Aldrin (A) TEH
(B) Benzene (B) =i
(C) Tetrachloro ethylene (C) <Rl gefiefd
(D) Polychlorinated biphenyl (D) diciFRIHEE SRR
9.  Match the following : 9. 3fua day sifed
Green house Source e Te i ein]
gases
(@) Carbon dioxide (i) Fertilizer (a) HET SEIAFEE () A
(b) Methane () Refrigerant (b) HieA I NIGED
(c) CFC (iii) Wet land (c) CFC (i) o gy
rice et Y
cultivation

(d) Nitrous oxide (iv) Wood fuel (d) TEeH RS (iv) FS TEH
Codes : Fe :

@ M @ @ @ () 9 (@
(A) (v) () @) () (A) (v) @) @) @
B @) ) @ 6O | ® @) @ @ O
© Gv) @) @) () © Gv) @@ (D) (@
(D) @) & @ @) | D) () @ @ @)

SPACE FOR ROUGH WORK / 1% &T¥ & o g
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10. =g foranm ¥ 180 e feawl =1 fAeior

10. The commission recommended for 180
teaching days in higher education was #H f74 § 9 B WM g Srwd fea
given by : T3 ?
(A) Radhakrishnan Commission (A) THEHEH T
(B) Kothari Commission (B) WIS SR
(C) Mudliar Commission (C) HefTaR s
(D) Rashtriya Gyan Ayog (D) U A SR
11. In which of the following informal  11. = # {9 SR Heash | I8 =l
network does the individual IEIIHF & § YO & WY I I
communicates with everyone non- 77
selectively ?
(A) single strand network (A) T e 7T
(B) gossip network (B) 79 BCECY
(C) cluster network (C) =3 (cluster) Feqh
(D) probability network (D) wifeRdl Fedeh
SPACE FOR ROUGH WORK / T% &M @ fo& s e
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12. By using following table to answer the 12. 99 & W I & fog =t wroft s 3w
question. This table shows the “Number HIfT | 58 "R § ' fordt Hed & st
of oddicers in various departments of an faurit # siffewd =t desd = fa=-fa=
organisation in different scales” : whell § ge T Ry

Table aroft
Deptt - ) - - i i
e e e e o [t o e o w2

I 225 725 750 300 325 175 I 225 725 750 300 325 175

I 120 426 576 288 240 150 II 120 426 576 288 240 150

I 75 250 320 120 85 100 111 75 250 320 120 85 100
v 40 126 144 60 30 50 v 40 126 144 60 30 50
v 25 65 70 35 20 35 A% 25 65 70 35 20 35
VI 4 20 28 15 8 5 VI 4 20 28 15 8 5

What is the ratio between the total
number of employees in Scale III and
Scale IV respectively ?

(A) 19:9

9:17

(B)

(C) 9:19

(D) 17:9

et 111 3R Tha IV H AT Fel KUl
I GEAT % HEA U TR ?

(A) 19:9
(B) 9:17
(C) 9:19

(D) 17:9

SPACE FOR ROUGH WORK / T& &g & e v
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13. Complete the following letter series from  13. frfafea s7ex 4oft =0t i fod foewedi @
the options given below : qui Y
abc__cdacd __ab_d abc _ _cdacd __ab_d
(A) abdca (A) abdca
(B) cadbc (B) cadbc
(C) dbabc (C) dbabc
(D) None of the above (D) SR H | &I T2l
14. Given below a statement, followed by two 14. 9 T F AR A T (a) IR (b) T g
arguments numbered (a) and (b). Choose e & @ Wt ooy o1 -
the correct option from the following :
Statement : haT
“Are nuclear families better than joint ‘e 9RER, ag,aa JRaR | SsR 1"’
families”.
Argument : qeh :
(@) No Joint families ensure security (a) I, HY qRER guiam T M H
and also reduces the burden of the g FHHSAA L
work.
(b) Yes, Nuclear families ensure greater (b) &, The TNaR SIS WAl 9eH
freedom. gl
Choose the correct answer : e SW A ¢
(A) Only argument (a) is strong. (A) oA T (a) HSTed 2l
(B) Only argument (b) is strong. (B) aw T (b) FTE B |
(C) Neither argument (a) nor argument (C) T TH (a) 3R 7 & q (b) TSEA B |
(b) are strong.
(D) Both arguments (a) and (b) are (D) <Hi T (a) 3R (b) weTe@ ¥
strong. '
SPACE FOR ROUGH WORK / % &rd & f&@ s
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15. Choose the most appropriate answer. 15. waifye 3fea s gim)

Oral Communication is better than foifgd dar =it o1den gEe HaR
Written Communication for : % T s B &4
(A) Providing opportunity to refer back (A) o T HTA HT ST T §
(B) Saving time (B) EHI & q=d
(C) Conveying feglings and emot;ons | (C) wae iR Hagsil ot gfquga
(D) Conveying facts (D) < 1 yfqareH
16. Find the next term of the series : 16. AUt F STTAT I Fid HIFGT :
BEK, CGM, EKQ, GMS, ..... BEK, CGM, EKQ, GMS, .....
(A) HLR (A) HLR.
(B) KQwW (B) KQW
© TwWQ © JWQ
(D) QLR : (D) QLR

SPACE FOR ROUGH WORK / 1% &1 & ford g
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17. What is the resolution of 12 - bit data  17. 12 - e =1 F=aX = RieRM =0 & ?

converter ?

(A) 0.00024% (A) 0.00024%
(B) 0.024% (B) 0.024%
(C) 0.0041% (C) 0.0041%
(D) - 0.041% (D) 0.041%

18. If A represents students in Science, [ 18. 3R A foam % BE ® fEfia & g,

represents students in Arts, O represents [ shedl & BEI I e %, O
students in Commerce and D Ao &% Bl FEMa R T 790 O
represents students in Law, then from the fafy & ol i e[ #a © @ = o
following figure find how many students Y wra SIS o anfor & e s q@ &=
of Commerce are also students of Science e awmafafaF FomE?

or Arts or Law ?

47 47
(A) 4 A 4
(B 2 (B) 2
© 3 (C) 3
(D) 5 (D) 5

SPACE FOR ROUGH WORK / T% &1 & & wrg
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19.

20.

See following coding patterns : 19.

‘Alert Bhutan from China’
‘Sing Phu Lu Top’

‘Bebare from American Alert
“Top Lu Siu Laugh’

‘Bebare Pakistan from China’
‘Putu Laugh Lu Sing’

‘Nepal Alert America and India’
“Top Su Siu Kiu Pop’

Then “Alert Nepal from China and
Pakistan’ will be coded as :

(A) Sing Phu Laugh Kiu Putu Su

(B) 1 Sing Lu Su Putu Laugh Pop
(C) Top Kiu Putu Pop Lu Siu

(D) Top Pop Su Kiu Lu Sing

Which of the following statement is false 20.

about HTTP ?
(A) It runs over TCP

(B) It describes the structure of
webpages

(©) It allows information to be stored
in URL

(D) It can be used to test the validity of
hyperlink

ﬁm@fmu@ﬁrﬁé@ i

"TEe eH W EREAl
‘g

foeeR e sfE werRe!

‘e 9 Tag e’

“foerr miferm™ v | =T

‘q¢ o o fEq’

‘e el STafenT e sfveer’
"2 9 fay Ry Wi

9 ‘TS AU B IS WU ifREE’ &
T YR Hie fhar SR :

() i g T ey g

| .('B')“ T4 9 g g ok uig

(C) v forg qg um o fog,
(D) 2fa dfq g forg 7 fom

HTTP 9 Heifd &9 91 sea 9 ¥ e
g?

(A) IE TCP W Jewl §

(B) I ASIUST i TIT HT U T T
(C) URLﬁgam#uswaﬁamﬁrém%

(D) TEWfE® wt Jear wHt Wa F ST
foran < et ¥

SPACE FOR ROUGH WORK / T% &rE & fed srg
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21. Which layer protocol provides logical  21. erenict ST A &1 R a1 Sl W =e
communication between application T STFEN Uishasll & Hed THYU HIAR
processes running on different Host ? TS HAT & 7
(A) network (A) “eEHh
(B) transport (B) iUR
(C) application (C) sTIgwEm
(D) session (D) ¥

22. (a) SixfriendsP,Q R, S, Tand Uare 22. (a) ®: IWP, QRS TR U F &

members of the club and each play AR ¥ R JA® -3 W
a different game of Football, Cricket, N zara, feae, oM, qrEHTad,
Tennis, Basketball, Badminton and Sefrea IR Siciaria Te 81
Volleyball.

(b) ‘T’ who is taller than P and S play ® ‘T st f& P sk S & @ €
tennis. e gl

(c) The tallest among them plays (€) T Had Il aehes Qo B |
Basketball.

(d) The shortest among them play (d) T TOY Bie Sctieie W ¢ |
Volleyball.

(e) Qand S neither play Volleyball nor €) Q3RS 7 E sieheaia e 8§ 3R A
Basketball. B arelraiiet |

(f) T isin between P and Q in order of ® SE H FIERT, PR Q F AR
height where Q plays football. Rl Q Fesid Gadi gl

Who will be in the third place if they are TfE 3¢ S % STIER W4 A § @l fwan

arranged in decreasing order of height ? S Y G FER TR i B 2

(A) Q (A4) Q

B P B P

© T © T

D) S (D) S

SPACE FOR ROUGH WORK / T® &1d & fod s1e
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23. The following table gives the detail of  23. fr=fafaa arelt # forddt &= # o &

‘Quantity of various food items used by a 99w B: WA § S TR T e w e
Restaurant during the first half of a year el 1 (foham. #) <o W R
(inkg) :
Table Tt
W Jan  Feb March Aprii May June . Sl wEd e wda W
Food Items kel
Rice 250 230 210 260 240 220 K] 250 230 210 260 240 220
Wheat 320 340 280 290 300 360 w 320 340 280 290 300 360
Sugar 240 210 200 210 160 150 YL 240 210 200 210 160 150
Pulses |.360 300 320 245 235 250 Kl 360 300 320 245 235 250
Vegetables | 380 390 385 375 355 370 el 380 390 385 375 355 370
Misc. 460 485 440 460 475 480 fafr | 460 485 440 460 475 480
What is the difference between the WWW ] FA W‘T ] ¢ 3 =JEd
average quantity of rice used in all the %I A S el ofted ﬁﬁiﬁ T o AL 3T
given months together and the average T ?

quantity of wheat used in all the given
months together ?

(A) 60 kg (A) 60 fmm.
(B) 90 kg (B) 90 fw.am.
(C) 75kg (C) 75 f&mm.
(D) 80kg (D) 80 fw.m.

24. Semantic barriers to communication does 24. GYUR & Wfsqeh ey H fwd e ﬂﬁ

not include : e S 72

(A) Unclear message (A) T Gl

(B) Faulty translation (B) Ul ATa]

(C) Technical words or Jargons (C) Teh-ieht SIeg AL SIFIH
(D) Differences in perception (D) T H HR

' SPACE FOR ROUGH WORK / 1% &1 & &l soig
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25.

26.

27.

If D=4, COVER =63 then BASIS="? 25.

(A) 49
(B) 50
(C) 54
(D) 55

What is the address given to a computer 26.

connected to a network called ?
(A) Process ID

(B) IP Address

(©) SYSID

(D) IE address

As per W.H. Newman and C.F. Summer 27.

“communication is an exchange of
by two or more persons”.

Complete the above statement by
choosing the correct alternative/
alternatives.

(a) Facts

(b) Opinion

(c) Ideas

Codes :

A) (a) only

B) (b)and ()
Q) (a), (b) and (0

(
(
(
(D) None of the above

Ifg D=4, COVER=63 @ BASIS=?
(A) 49

(B) 50

(C) 54

(D) 55

Iead ¥ grEiga HPE H R TgH fam
ST E ?

(A) WHYEID
(B) IPTgH
(C) SYS ID

(D) BT

W.H. =i9 &R CF. ¥ & SI{9R ‘' H=R
3y 1 S1fren Sl & =1 fafma
-a_é}rc-n.%ln

ST HY W foerey/ faswedl & 3faa
= € ol sKifsrg |

oS
143

(A) F (a)

®) () 3R ()

© (a), (b) ¥R ()

(D) SR H | S &l

SPACE FOR ROUGH WORK / T% &id & o S8
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28. The next number in the number series

will be :

7,28, 124, 344, 1330, 2198,

(A) 2197
(B) 2298
(C) 2198
(D) 2297

Study the following table and reply Questions

29 and 30.

Following table shows ‘Number of workers in

28. HEI 9O
7, 28, 124, 344, 1330, 2198,

He B
(A) 2197
(B) 2298
) 2198
(D) 2297

frafafaa Taa 1 S1EaaF X W9 29 G991 30 =

SWEI

ﬁﬂﬁﬁ“ﬁﬁﬁﬂ—fﬂ:{ma&@:mﬁﬁﬁ

the given six shifts of various factories (in FHHEE! % gen (TR H) T TR
thousands).
Table |t
Factory L M N O] p . L M N O] P
Time R
7am-1lam | 7.5 8.0 7.8 759 832 7am-1lam [ 7.5 8.0 7.8 759 832
11 am-3 pm | 6.38 7.0 716 650 7.50 11 am-3pm | 6.38 7.0 716 650 7.50
3pm-7pm | 6.50 7.28 635 615 7.24 3pm-7 pm: 650 728 635 615 724
7pm-1lpm | 780 525 600 6.00 650 7pm-11pm | 780 525 600 600 650
11 pm-3am | 550 5.00 510 550 5.70 11pm-3am | 5.50 500 510 550 570
3am-7am | 420 3.00 412 3.50 215 3am-7am | 420 3.00 412 350 215

29. What is the average number of workers
working in various shifts from factory

P?

(A) 6045
(B) 6200
(C) 6235
(D) 6250

9. P HREM ¥ f=-f= wiedl § e
FeaEl w ofvaa g F R ?

(A) 6045
(B) 6200
(C) 6235
(D) 6250
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30. What is the ratio of the total number of
workers from factories L and M working
in the shift of “11 pm - 3 am” and the
total number of workers working in the
same shift from factories ‘O" and ‘P’ ?

(A) 15:16
(B) 13:14
© 13:15

(D) 15:17

~Reply Questions 31 and 32 after studying the
following data.

30.

“11 pm -3 am’’ % el § &R FEER L
AT M HREHI & FA FHEET F GET
g St 9ot H v = ‘O’ qen ‘P!
FREH H FA HHARE F d@& F 0
I 7 ?
(A) 15:16
(B) 13:14
(C) 13:15

(D) 15:17

Frefafed siiehel =1 aTemam 2 Y9 31 991 32 &1

TR

Year 196019701980 1990|2000 /2010|2020
Production

EL 1960(1970|1980|1990|2000{2010|2020

(nlakh | 17 (19 | 23 | ? | 31 [ 37 | ? (e 17 (19 | 23| 2 [31 |37 ]| 2
tonne) = H)
31. What will be the production (in lakh  31. 2020 ¥ ST (o7 =7 &) 41 B 2

tonnes) in 2020 ?
(A) 39
(B) 41
(C) 43

(D) not deductive

(A) 39
(B) 41
(C) 43

(D) &R

SPACE FOR ROUGH WORK / % &l & ol W
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32.

33.

34.

35.

What was the production (in lakh tonnes)
in 1990 ?

(A) 27
(B) 29
(C) 25

(D) not inductive

A college can get grant from UGC only
when it is covered under the section/
sections of UGC act 1956 is :

a) 20

(B) 12B

(C) Both (A) and (B)
(D) Neither (A) nor (B)

Ozone depletes by which of the following
system ?

(A) OH system

(B) N,O system

(C) CFCl; or CFCl, system
(D) All the above

Itai-Itai disease is caused due to toxicity
of which of the following metal ?

(A) Arsenic
(B) Mercury
(C) Cadmium
(D) Lead

32.

33.

34.

35.

1990 B SeTeT (M@ e H) F41 A1?

(A) 27
(B) 29
(C) 25
(D) SARTHAE

UGC TR 1956 & 1 ¥ HoH/ ol §
TRIfgeerd dsfiea o W FEIE ¥ TR
Tl T T § 7

(A) 29

(B) 12 B

(C) =l (A) T (B)

(D) (A) W (B) T 7

3o w1 faea e § @ fifw o g
L%

(A) OHTA

(B) N,Od

(C) CFCl, 3 CFCl, T

(D) ST w4t

frer ¥ @ frw urg % RO Y9E 9
JeTE-TaTE A B € ?

(A) REfE

(B) WHI

(C) Fefram

(D) @3
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36. The purpose of higher education is to
promote among students the abilities
related to :

(A) Critical evaluation
(B) Creative thinking
(C) Interactive skills

(D) (A) and (B) both

Read the following passage carefully and
answer questions 37 to 41.

At the dawn of history India started on
her unending quest, and trackless centuries are
filled with her striving and the grandeur of her
successes and her failures. Through good and
ill fortune alike she has never lost sight of that
quest or forgotten the ideals which gave her
strength. We end today a period of ill fortune
and India discovers herself again.

The achievement we celebrate today is but
a step, an opening of opportunity, to the greater
triumphs and achievements that await us. Are
we brave enough and wise enough to grasp this
opportunity and accept the challenge of the
future ?

That future is not one of ease or resting
but of incessant striving so that we might fulfil
the pledges we have so often taken and the one
we shall take today. The service of India means
the service of the millions who suffer. It means
the ending of poverty and ignorance and disease

36. o= Tan o ey faonRidl § frsfafeg @
TrE-ad Argars ol ISET I 8

(A) STAIEHHS: Heih

(B) YSHRHS To=aq
(C) iafsharms HivE
(D) (A) TS (B) &I

Frafafaa ey« samgds i qor wew
HE&AT 37 § 41 o I S

T8I < TP o T & 9RA 3 3T sfaee
st TR T 3R T 9 ferat & wfeat soet w7
GheTmed Ud SHEadst 9 ol g €1 9 o=
T B AN, IR 7 el 39 WIS 9 37 gt T
T 3R ol ot T I amew A T oqen fad
T AR 1 T 7H U F TR F o I
® ¢ 3R YRa T: G 1 @S 01 @R

T &9 50 Syeifsy 1 3@ 71 W@ € A
HES % HIH T, T TTH & Gor | T ot
TS| ST THRY Wellen L T8 ¥ 1 e HY gal
vifert iR gfgwan €, fF 50 39 s &1 99 ol
afersa st AT Sl Tepr i ?

vfee H &8 fasqm = o 99 9 78 e
Sfcer FER Y™ & § 1w 80 S o= aR-aR
T ® € S o8 7w o7 off S 98 qm o
ek | A W Wl w1 1o ¥ - difed wt
ST Gl BT THHT HeleTsl & T IR ST Y
e, fimiEi oik eTaer =i sraamar #i faemn
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and inequality of opportunity. The ambition
of the greatest man of our generation has been
to wipe every tear from every eye. That may
be beyond us but so long as there are tears and
suffering, so long our work will not be over.

And so we have to labour and work hard,
to give reality to our dreams. Those dreams
are for India, but they are also for the world,
for all the nations and peoples who are too
closely knit together today for any one of them
to imagine that it can live apart. Peace has been
said to be indivisible, so is freedom, so is
prosperity now, and so also is disaster in this
one world that can no longer be split into
isolated fragments. -

To the people of India
representatives we are, we make appeal to join
us with faith and confidence in this adventure.
This is no time for petty and destructive
criticism, no time for ill-will or blaming others.
We have to build the noble mansion of free
India where all her children may dwell.

The appointed day has come - the day
appointed by destiny - and India stands forth
again, after long slumber and struggle, awake,
vital, free and independent. The past cling on
to us still in some measure and we have to do
much before we redeem the pledges we have
taken so often. Yet the turning point is past,
and history begins a new for us, the history
which we shall live and act and others will write
about.

It is a fateful moment for us in India, for
all Asia and for the world. A new star rises,
the star of freedom in the east, a new hope
comes into being, a vision long cherished
materialises. May the star never set and that
hope never be betrayed!

whose

TR W 3 e He™ Sfad i uE qecashien
? fr & Af@ | oy fie S we Ow gl
e G 7 @ W 9 q% Al A 7 oy §
3l & difeq € 79 T AN SIH WeH TR B |

iR zafaw & ufism & B iR wfen
M AT BN AR &H TG AT b1 FEHL
Th| N IRAF e RagH AR foa =+
forw oft €1 o1 i GE # foaga oter 48 |9h
GehaT Fifh T g 3T T Uk TER  wE Wi
QLR wife o faT e T R, 6 e

. T ot efaura €, wafg of o) fomm o, s

7| g B SrR-Bre fewmi # 78 wier s wehar

AR o) 51 9, Torger &a gfafafy € erdte
J FE E fr 9 o oen W favew & @y 39
REF A T2 o1l To8 ST S SR St
TERI T SR 1 Y TR ¢ | B9 as 9Rd
wgF fafo = § SRl 39 R 9= 1§ U |

e fraa wma o T §, s tw fem R
Trafa 3 7o faran o ik we R e ot & dod &
T YRT WINd 9 W% Wel T FS 88 ah 14l ot
TN [ T Faraert gaT €, iR e SRR ST o=
A @ ¥ 38 T 9 vt 9ga 8 w8 ! WA
o fruifaes foig orefla & 91 8, 3R AR foa ©&
o Sferd TR T T B, Uk U s e e
TN R fge IR § @ T

Y guR foTT T Hara &1 9 8, T T AR
o1 3T I T, WA H T 1 faawr) ww W
STTS o1 S G ¢, Teh qugreean sifere o o1 §1
19 Y T w316 7 B S 3vren ot yfirer A
Al
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37. From where has the new star of freedom  37. TSl % ¢ AR 1 359 Fal ¥ g &7
arisen ?
(A) East (A)
(B) West (B) uf¥=m
(C) North (C) W
(D) South (D) <feqor
38. During the unending quest India did not ~ 38. WRH 3 S Siag @R ¥ SRF T foreqa
forget : & R ?
(A) Her riches (A). 9 HPgTar
(B) Her superior status (B) T gy
(C) Her ideals (C) o797 amest
(D) Her Gods (D) 3T ¥R
39. For Indian future is 39. wfos YRaenf&aE % e |
(A) easy (A) SMEEE
(B) full of striving (B) AR TEEFAHR
(C) full of joys (C) Y 3TFE T 1 §
(D) sceptic (D) Higr® ®
40. The service of India does not mean : 40. ‘A H Ha H A A H A A R ?
(A) the service of our leaders (A) ST AT H YET HE
(B) ending of poverty (B) Tt ferm
(C) ending inequality of opportunity (C) T i STEHMaIS ® foem
(D) ending of ignorance and disease (D) A Oe S s faer
SPACE FOR ROUGH WORK / T% & & fod s
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41.

42,

43.

In order to make our dreams a reality, we
will have to :

(A) keep thinking
(B) keep planning
(C) collect a lot of money

(D) labour and work hard

Communicating Policy statements,
programmes and objectives and issuing
orders to the subordinates are referred to
as:

(A) Upward Communication
(B) Horizontal Communication
(C) Downward Communication

(D) None of the above

Level of signal is inveﬁely proportional
to the :

(A) Reliability of a system
(B) Efficiency of a system
(C) Accuracy of a system

(D) Bandwidth of a system

41.

42,

43.

3T WOHI I GRR wE ¥ foaw & (Tiw
F STAR) T LT B 2

(A) TR Greamm
(B) SRIEISHI SHI &A1 BT
(C) STUR &9 WS HEAT el |

(D) e afigm % 2y

Hifa foeroll 1 waRw, SR T st
gﬁm%.maﬁﬂaﬁmw
(A) FW H AR FER

(B) &few g=mwr

(C) = ! IR HuRW

(D) SR # &g o &

e 1 oaw % hHTIATA
B

(A) Yorrel St fovaestem
(B) WOl # qEwI
(C) YoIedt st Wil
(D) wonE T Feeer
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44. If Q, Q* and C respectively denote the set 44. 3Ifg Q Q* qum C HuWM: UUT W&l &
of rational numbers, the set of irrational =AY, STIRHEY Hesii & ey U uiug
numbers and the set of complex numbers, HeAe & w=ad ! Yiad & @, @
then which of the following is different HI¥FA AT § = 82

~ from the other three ?
(A) AM, GM, HM (A) AM, GM, HM
B) - % 3 g‘ B) - % 3, %
© QQ%C © QaQ~C
(D) Kaliyug, Satyug, Dwapar (D) hicrgT, FagT, TR

45. If the following statements are given 45. 3¢ frafafed wem fog e
Statement : B
I.  All girls are scientists. 1wt wrsfear aafe €
II.  All scientists are peacock. I 9t S "R €1
Conclusion : fred

‘1. All girls are peacock. L wt srefear AR €

II.  Some peacocks are scientists. IL %S 9K a9 g |

then pick up the correct answer : @ W SWGA -

(A) Conclusion I is right. (A) e 1 9 B

(B) Conclusion II is right. (B) fr=se1n HE"T ?

(C) Conclusion I and II both are right. (C) Trredl 1 aen 11 31w B

(D) ConclusionIand II both are wrong. (D) e 1 ae 11 {1 o g
SPACE FOR ROUGH WORK / T & & fod swrg
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46.

47.

Both sons Ram and Mohan of Sohan have
one son and one daughter each. The only
daughter Sobha of grandfather of the
only son Tuku of Ram and Sobha has
¥50lakhs while the mother-in-law of the
daughter Priya of Mohan gave ¥ 60 lakhs
to her only son Rahul. Sobha handed
over half of her amount to her son. Both
Tuku and Rahul handed over their money
to their grandfathers. Then how much
amount Sohan has now ?

(A) T 55 lakhs
(B) T 25 lakhs -
(C) T 30 lakhs

(D) none of these

Which of the following use routes with
packet filtering rules to allow or deny
access based on source address,
destination address, or port number ?
(A) IP enable firewall

(B) Router enhanced firewall

(C)  Packet filtering firewall

(D) Application layer firewall

46.

47.

W & 2 T T 9o B A Q 1@
T IH AT Gt 81 T 3R s ¥ e
T ZF & T THAE O 9o & g 250
e ¥ SafE dred F g v w9 wm ety
THAT S TG 1 T 60 ARG &1 ghrsqy a1qeit
TR <61 3T19T 79 g3 2 3P a1 g
T STo-STH TR ST-a79Y TS ) 2
fean 7 e % o e ufr 82

(A) T55 @
(B) T 25w
(C) T30 W

(D) 7™ 9 % T

e 4 form Y% fircefin frmll & siaiq,
T 1 ST, B T, T war sveray O
TER % YR TR 3 3757 7 3 ¥ foru
FAR?

(A) P 9m=@ wrREta

(B) ®X aftfa wrrara

(C) H¥e fpeeftn wrrate

(D) STIFART SR HrERETe
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48. Which networking device can solve the 48. Seafd o S T feary, oTdf h AShIL
problem of excessive broadcast traffic ? ftFer 1 TR 1 T R ARl 7?2
(A) Router (A) ®X
(B) Switch (B) T==
(C) Bridge () fo=t
(D). Repeater (D) fdr
49. Rigid rules and regulations are included 49. ST HITH a9l el o1 wfmfaa & ¥
in :
(A) Physical barriers (A) ofifeer sty §
(B) Mechanical barriers (B) FiftIh sEqy H
© Socio-psychological barriers © HrTSieh-TAIe e §
(D) Organisational barriers (D) WIBRHR ey H
50. In the following number-letter group 50, frefoiEa sim-AsR g H 4 HE-91 T
which is different from the others ? qfme?
(A) PH3 - (A) PH3
(B) VK2 (B) VK2
(C) XD6 (C) XD6
(D} OE3 (D) OE3
' SPACE FOR ROUGH WORK / T &W & ford WIg
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51.

52.

53.

Null Hypothesis is called as : 51.

(8)
(B)
(©)
(D)

Continuous

Hypothesis of difference
Hypothesis of similarity
Hypothesis of no difference

None of the above

Evaluation means :

(A)

(B)

©)

(D)

Action Research is : 53.

(A)

(B)
©)

(D)

Evaluation of affective and
co-affective aspects with regularity.

Evaluation of cognitive and
co-cognitive with

regularity.

aspects

Evaluation of conative and
co-conative aspects with regularity.

Evaluation of psychodynamic and

co-psychodynamic aspects

regularly.

Applied. Research
Longitudinal Research

The research conducted for solving
some recent and socially relevant
problems

(A) and (C) both

and Comprehensive 52.

Y[ IR i e §
(A) ST Sl IRSFTI
(B) M &t UfheaT
(C) =R & =t yfeewn
(D) 39§ § T

Haq T A9 e o 37 §

(A) T7afia €99 vETT U6 98- vEwEs
egel 1 qeiehH |

(B) frafug w9 & ¥9FTHs & we-
HHFATHS TeGSH hT Yodish |

(C) T7afta w9 9 forarcre & we-framms
TSl 1 e |

Frafia 9 @ WS TE w9
AT e 1 Gl |

(D)

o My T
(A) I Ty
(B) Srdmfes Wy

(C) 3 vy Rl arcmiferen We wIfTE
w9 § yrifier wuensl % gaE ¥
ExiSIck I

(D) (A) @i (C) q
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54. The Evaluation through quizzes and 54. WAl W FEiel % 5N BN A Wﬁ
discussions is called as : FEA©
(A) Summative evaluation (A) GHAARHS IR
(B) Formative evaluation (B) {IIcH: HeHih
(C) Cognitive evaluation (C) EIFTCHSE e
(D) All of the above (D) S 4!
55. Which one of the followings is not the 55. T # § &A% MY 1 i O AE 8 2
ethical property of research ?
(A) Honesty (A) SR
(B) Justifiability (B) =HmEiTSSdl
(C) Neutrality (C) <T@
(D) Subjectivity (D) =AfeI{TS
56. A researcher administered certain  56. e Sl e X 3 100 - fernfeli v suetsy
achievement motivation test on a group SRRToT TeTor et I &1 Helish
of 100 - students of class X. After scoring IU Y 100 - TR AT €1 59 WS
of the test he obtained 100 - scores on the HE WH T :
test. The data may be called as :
(A) Primary data (A) wAfHeR ged
(B) Secondary data (B) Tfafrah wed
(C) Empirical data (C) argvlesh Y&
(D) (A) and (C) both (D) (A) W (C) Tl
SPACE FOR ROUGH WORK / T® &1d & o g
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57. Which one of the following is an indicator 57. et wne gfet &t o o fefafaa |

of the quality of a research journal ? q SF-9 I §?

(A) ISO - 2012 ' (A) ISO - 2012

(B) NAAC Accreditation (B) W.CCHL. YeIm=A
(©) Impact factor (C) Y= TUrR

(D) g -index (D) Si-gerhish

58. A researcher is intended to examine the 58. Qﬂn‘@ﬂaﬁﬁﬁ b M o YU FfrEl
after effects of earthquake on the GicifiTeh sl T U Ao YTl i S1eae
emotional problems of individuals. Which A EEA & | T T TSR 1 Wy &2
type of research is this ?

(A) Affective Research (A) HTETcHS WY
(B) Ex-post-facto Research (B) M Ty
(C) Longitudinal Research (C) riemiern vy
(D) Action Research (D) fTwarws sy
59. Objectivity means : 59, eSS = o7 ©
(A) Inter-personal agreement (A) sTdafes Hedfa
(B) Inter-objects agreement (B) aTE% WeHfd
(C) Inter-personal disagreement (C) STaafHF STHEAL
(D) Inter-objects disagreement (D) <E%] FHEAN
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60. Which of the followings is not the maxims 60, FEARABATEmgEIER?.
of teaching ?

(A) From simple to complex (A) THRT ¥ Sfed

(B) From emotion to intelligence (B) Ham € gfg

(C) From concrete to abstract (C) A q g8

(D) From indefinite to definite (D) sAffy=a |/ Ff=m
-00o- -o0o-
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SET - A

IaT 3ifehd I &1 9HF ; 19T 15 fafe { stfereRan 3iek : 100

Time for marking answers : 1 Hour 15 Minutes Maximum Marks : 100

e :

1. 79 Y- # 60 aegfe v g e R, foH @ awﬁm%-‘ﬁsomﬁwaﬂﬁm@m afg
et g 50 R i Tl 1 IR T S R, A g I 50 WAl 1 @ gk fohan s
ToF T % Tt (2) i iR ®1

2. e % T, €& T OMR IW-YE (AW-Fe) T Afera Hifew |

SRUTTHh Yeich g fohall STTa |

w

4, Fre off e % Sopeet o1 G Sad TH Hieed HE 1w afid €

5. ‘OMRw—sﬁz(awm—aﬁz)muﬁnw@wﬁﬁémﬁqaﬁm@%mmmwﬁ
%mmm%mmwma%wﬁmj

Note :

1.  This paper consists of sixty (60) multiple-choice type of questions, out of which the candidate
would be required to answer any fifty (50) questions. In the event of the candidate attempting
more than fifty questions the first fifty questions attempted by the candidate would be
evaluated. Each question carries 2 marks.

2.  Indicate your answers on the OMR Answer-Sheet provided.
3.  No negative marking will be done.
4.  Use of any type of calculator or log table and mobile phone is prohibited.

5.  While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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